

19/EN905/031

JAMES ONY-ERACHY NATHANIEL

MAT 102

$$\textcircled{1} \quad M = pi - 6j - 3k \quad N = 4i + 3j - k \quad O = 1 - 3j + 2k$$

$$M \cdot N = 0$$

$$4p - 6(3) - 3(-1) = 0$$

$$4p - 18 + 3 = 0$$

$$4p = 18 - 3$$

$$4p = 15$$

$$p = \frac{15}{4}$$

$$M \cdot (N \times O) = 0$$

$$\begin{vmatrix} p & -6 & -3 \\ 4 & 3 & -1 \\ 1 & -3 & 2 \end{vmatrix} = p(6-3) + 6(8+1) - 3(-12-3) = 0$$

$$3p + 54 + 45 = 0$$

$$3p + 99 = 0$$

$$3p = -99$$

$$p = \underline{\underline{-33}}$$

$$\textcircled{2} \quad 3i + 2j + 5k \quad + \quad 2i - j + 6k \quad + \quad 5i + 2j - 3k$$

$$\vec{r} = 10i + 3j + 8k$$

$$\hat{r} = \frac{\vec{r}}{|\vec{r}|}$$

$$|\vec{r}| = \sqrt{10^2 + 3^2 + 8^2} = \sqrt{100 + 9 + 64} = \sqrt{173}$$

$$\hat{r} = \frac{10i + 3j + 8k}{\sqrt{173}}$$

$$\cos A = \frac{10}{\sqrt{173}}$$

$$\cos B = \frac{3}{\sqrt{173}} \quad \cos C = \frac{8}{\sqrt{173}}$$

$$(3) F = 3ui + u^2j + (u+2)k$$

$$v = 2ui - 5uj + (u-2)k$$

$$F \times v = \begin{vmatrix} i & j & k \\ 3u & u^2 & u+2 \\ 2u & -5u & u-2 \end{vmatrix}$$

$$= i((u^3 - 2u^2) + (3u^2 + 6u)) - j(3u^2 - 6u - 4u^2 - 4u) + k(-9u^2 - 2u^3)$$

$$= (u^3 + u^2 + 6u)i + (u^2 + 10u)j - (9u^2 + 2u^3)k$$

$$\int_0^1 (u^3 + u^2 + 6u)i + (u^2 + 10u)j - (9u^2 + 2u^3)k$$

$$= i \int_0^1 u^3 + u^2 + 6u + j \int_0^1 u^2 + 10u - k \int_0^1 9u^2 + 2u^3$$

$$= i \left(\frac{u^4}{4} + \frac{u^3}{3} + \frac{6u^2}{2} \right)_0^1 + j \left(\frac{u^3}{3} + \frac{10u}{2} \right)_0^1 - k \left(\frac{9u^3}{3} + \frac{2u^4}{4} \right)_0^1$$

$$= i \left(\frac{1}{4} + \frac{1}{3} + 3 \right) + j \left(\frac{1}{3} + 5 \right) - k \left(\frac{1}{2} + 3 \right)$$

$$= \underline{\underline{\frac{43}{12}i + \frac{16}{3}j - \frac{7}{2}k}}$$